INSTRUCTIONS

Granberg Alaskan Mill Mk IV chainsaw mills

alas an mill



Assembling MKII

STEP 1 (See Figure I)

Attach tie bar (item 17) and handle (item 25) to on-
off bar (item 19) using two 5/16 - 18 x 3/4 carriage
bolts (item 9), two lock washer (item 23) and one 5/
16 hex nut (item 6) and one coupling nut (item 15).
Then attach unit to thickness rails (item 10) using
two 5/16 -18 carriage bolts (item 9)

One 5/16 flat washer (item 7) and two 5/16 - 18
coupling nuts (item 15).

STEP 2 (See figure II)

Attach end bracket (item 8) to thickness rails (item
10) using two 5/16 - 18 x 3/4 carriage bolts (item 9)
two 5/16 flat washers (item 7) and two 5/16 - 18
hex nuts (item 6). Tighten hex nuts finger tight only.
STEP 3 (See figure IIT)

Attach 2nd end bracket (item 8) to thickness rails
(item 10) using two

5/16 - 18 x 3/4 carriage bolts (item 9) two 5/16 flat
washers (item 7) and two 5/16 - 18 hex nuts (item
6). Now tighten hex nuts. Be sure that end brackets
are flush with thickness rails (see Figure III top
view).

STEP 4 (see Figure IT & I11)

Slide handle through large holes in end brackets.
Secure handle at thrust end (Figure IIT) flush with
end bracket using # 10-32 x 1 1/2 pan head. Screw
(item 1) # 10 lock washer (item 2) and # 10-32
hex nut (item 3). The same applies to the nose end
(Figure II) but do not tighten nut.

STEP 5 (See Figure IT Side view)

Insert two 5/16 - 18 x 3 Hex head bolts (item 11)
through 5/16 flat washers and into holes in adjust-
ment post (item 22). Slide bolts through nose guard
(item 14) and then through clamping bracket (item
20). Nuts are welded to the damping bracket. Start
hex head bolts (item 11) into

Nuts on bottom of bracket. Leave loose so there is
a gap for mounting

Chain saw bar.

STEP 6 (See Figure III side view)

Insert two 5/16 - 18 x 3 Hex head bolts (item 11)
through 5/ 16 flat washers (item 7) through adjust-
ment post (item 12) and into clamping bracket (item
13) engaging nuts on bottom of clamping bracket.

Leave loose so there is a gap for the saw bar.

STEP 7 (See Figure II)

Attach nose end post assembly to end bracket using U-
Clamp (item 4) post clamp (item 5) two 5/16 flat
washers (item 7) and coupling nuts (item 15). Tighten
coupling nuts (item 15) after setting

Calibration at 3” (see Figure II Side View).

STEP 8B (See Figure 1)

Attach thrust end post assembly to end bracket using
U-clamp (item 4) post clamp (item 5) two 5/16 flat
washers (item 7), and coupling nuts (item 15). Tighten
coupling nuts after setting calibration at 3" (See Figure
II Side View).

STEP 9

Slide nose of chain saw bar between clamping pads of
thrust end and on through to the clamping pads of the
nose end (see Figure IV& V). Slide bar through thrust
end until the saw s within 1 inch of the thrust end post
(item 12). Center clamping pads on bar and tighten
hex head bolts (item 11). Adjust nose end of mill
(figures IV & V-see back page) so the nose guard
misses the end of the chain and the clamping pad is
not contacting the sprocket in the nose of the bar. To
do so loosen the nuts (item 6) holding bracket (lem8)
and slide post and bracket assembly into position.
Tighten nuts (ftem 6) and nut  (item 3) on bracket
(item B) to secure handle (item 21) in place. Make sure
clamping pads are centered on saw bar and tighten
hex bolts (item 11). Check that all nuts and bolts are
tight. Insert end caps (item 16 & 18). Mill is now ready

for operation.
Assemblage de MKIII

ETAPE 1 (voir figure 1)

Installer la barre de jonction (17) et la poignée (25) a
la barre en-hors (19) en utilisant deux boulons de
chariot de 5/16 — 18 x 3% po (9), deux rondelles de
blocage (23), un écrou hexagonal de 5/16 po (6) et un
écrou d'assemblage (15). Puis fixer 'unité aux rails
d'épaisseur (10) en utilisant deux boulons de 5/16 — 18
po (9), une rondelle plate de 5/16 po (7) et deux
écrous d'assemblage de 5/16 — 18 po (15).

ETAPE 2 (voir figure Ii)

Fixer le support d'extrémité (8) aux rails d'épaisseur

(10) en utilisant deux boulons de chariot de 5/16 — 18

Q\‘:EQL deux rondelles plates de 5/16 po (7) et deux
us hexagonaux de 5/16 — 18 po (6). Ne serrer les

écmus qu'a la main.

ETAPE 3 (voir figure III)
Fixer le deuxieme support d’extrémité (8) aux rails
épaisseur élﬂ;:-n ul:ilisarrt deux boulons de chariot
l:|E 5/16-1 po (9), deux rondelles plates de
5/16 po (7) et deux écrous aux
5/16 - 1 pu{ﬁ] Serrer les écrous he L.
S‘assurer que les supports d'extrémité urent les
rails d'épaisseur (figure I1I, vue de dessus).
ETAPE 4 (voir et
Passerlapmg dans les grands orifices des
d'extrémité. Fixer la poignée a I'extrémité
s ure IIT). Utiliser une vis a téte cylindrique a
J:u lede 10-32x 1 Y2 po 11], une rondelle calibre
10 (2) et un écrou calibre 10-32 (3) pour
que la poignée afﬂalre support d'extrémité.
P la méme fagon nez (figure II),
sans toutefois serrer l'écrou.

ETAPE 5 (voir figure I, vue latérale)
Placer des rondelles plates de 5/16 po sur deux
boulons a téte le de 5/16 - Iﬁx3pn }
et insérer les boulons dans les orifices des gou
de réglage (22). Les boulons doivent traverser
nez (14) et le support de serrage (20). Les
us sont au support de serrage.
Commencer par visser les boulons a téte hexagonale
11) aux écrous en bas du support.Ne pas serrer.
isser un dégagement suffisant pour installer la
barre de la scie a chaine.
ETAPE 6 (voir figure 11, vue latérale)
Placer des rondelles plates de 5/16 po (7) sur deux
boulons a téte le de 5/16 - 18x3pu{11)
etit;u-l:dulm Iesahgu dans les
, le support de serrage (13), puiscurnn'lencara
(b.s ml&sécrmsaufnfﬂdusuppurtde
serrage. Ne pas serrer. Laisser un

suffisant pour installer la barre de la scie.

i L T -
r I'assem rt
d'extrémité en utilisant mﬁmeﬁ?ﬂ}%ﬁ?

D (7)€ B Sl damsembiags (1o e I
assem

gous d’assemblage (15) apreslagfnir M

réglage a 3 po (voir figure I, vue latérale).



ETAPE 8 (voir figure IT1)

Fixer I'assemblage de goujon coté butée au support
d'extrémité en utilisant une pince en U (4), une pince
de goujon (5), deux rondelles plates de 5/16 po (7) et
des écrous d'assemblage (15). Serrer les écrous
d'assemblage aprés avoir effectué le réglage a 3 po
(voir figure II, vue latérale),

Etape 9

Glisser le nez de la barre de la scie a chaine entre les
blocs de serrage de I'extrémité butée et les blocs de
serrage coté nez (voir figures IV et V), Glisser |a
barre dans I'extrémité butée jusqu'a ce que la scie se
trouve a moins de 2,5 cm du goujon cité butée (12).
Centrer les blocs de serrage sur la barre et serrer les
boulons a téte hexagonale (11). Ajuster le coté nez
de la scie (figure IV et V, au verso) de facon a ce que
le protége-nez ne touche pas l'extrémité de la chaine
et que le bloc de serrage ne touche pas le pignon du
nez de la barre. Pour ce faire, desserrer les écrous
(6) qui maintiennent en place le support d'attache
(B) et mettre le goujon et I'assemblage du support en|
place. Serrer les écrous (6) et I'ecrou (3) du support
(8) pour fixer la poignée (21). Contrdler que les blocs
de serrage de la barre de |a scie sont centrés, puis
serrer les boulons a téte hexagonale (11). Controler
gue tous les écrous et boulons sont bien serrés.
Placer les capuchons d'extrémités (16 et 18). La scie

est maintenant préte a l'emploi.

Assmblar el MKIII

PASO 1 (Consulte la Figura I)

Conecte la barra de amarre (articulo 17) y manija
(articulo 25) a la barra de montaje-desmontaje
(articulo 19) usando dos pernos de carruaje de 5/16 -
18 x 3/4 (articulo 9), dos arandelas de presion (articulo
23), una tuerca hexagonal de 5/16 (articulo 6) y una
tuerca de acoplamiento (articulo 15). Seguidamente
conecte la unidad a los rieles de grosor (articulo 10)
usando dos pernos de carruaje de 5/16 -18 (articulo
9}, una arandela plana de 5/16 (articulo 7) y dos

tuercas de acoplamiento de 5/16 - 18 (articulo 15).

PASO 2 (Consulte la Figura IT)
Conecte el soporte extremo (articulo 8) a los rieles de
grosor (articulo 10) usando dos pernos de carruaje de

5/16 - 18 x 3/4 (articulo 9), dos arandelas planas de 5/

16 (articulo 7) v dos tuercas hexagonales de 5/16 - 18
(articulo 6). Apriete las tuercas hexagonales solamente
a mano.

PASO 3 (Consulte la Figura 1II)

Conecte el segundo soporte extremo (articulo 8) a los
rieles de grosor (articulo 10) usando dos pernos de
carruaje de 5/16 - 18 x 3/4 (articulo 9), dos arandelas
planas de 5/16 (articulo 7) y dos tuercas hexagonales
de 5/16 - 18 (articulo 6). Ahora apriete las tuercas
hexagonales, Asegurese de que los soportes extremos
gueden al ras con los rieles de grosor (consulte la
Figura 111, vista superior).

PASO 4 (Consulte las Figuras IT y IIT)

Deslice la manija a través de los orificios grandes en
los soportes extremos. Afirme la manija en el extremo
de empuje (Figura III), al ras con el soporte extremo
usando un tornillo de cabeza troncoconica N°® 10-32 x
1 1/2 (articulo 1), una arandela de presion N° 10
(articulo 2) y una tuerca hexagonal N® 10-32 (articulo
3). Lo mismo se aplica al extremo de punta (Figura II)
pero no apriete la tuerca.

PASO 5 (Consulte la Figura 11, Vista Lateral)

Inserte dos pernos de cabeza hexagonal de 5/16 - 18 x
3 (articulo 11) a través de las arandelas planas de 5/16]
y de los orificios del pilar de ajuste (articulo 22).
Deslice los pernos a través del protector de la punta
(articulo 14) y luego a través del soporte de
engrampado (articulo 20). Las tuercas se sueldan al
soporte de engrampado. Inicie la colocacion de los
pernos de cabeza hexagonal (articulo 11) en las
tuercas de la parte inferior del soporte. Déjelos sueltos
para que haya una holgura para montar la barra de |a
sierra de cadena.

PASO 6 (Consulte la Figura ITI, Vista Lateral)

Inserte dos pernos de cabeza hexagonal de 5/16 - 18 x
3 (articulo 11) a través de las arandelas planas de 5/
16 (articulo 7), a través del pilar de ajuste (articulo 12)
y al interior del soporte de engrampado (articulo 13),
enganchando las tuercas en el fondo del soporte de
engrampado. Déjelos sueltos para que haya una
holgura para la barra de la sierra.

PASO 7 (Consulte la Figura II)

Conecte el conjunto del pilar del extremo de punta al
soporte extremo usando una grampa en U (articulo 4),
una grampa para el pilar (articulo 5), dos arandelas

planas de 5/16 (articulo 7) y tuercas de acoplamiento

(articulo 15). Apriete las tuercas de acoplamiento
(articulo 15) después de fijar la calibracion en 3"
(consulte la Figura 11, Vista Lateral).

PASO 8 (Consulte la Figura III)

Conecte el conjunto del pilar del extremo de empuje
al soporte extremo usando una grampa en

U (articulo 4), una grampa para el pilar (articulo 5),
dos arandelas planas de 5/16 (articulo 7) y tuercas
de acoplamiento (articulo 15). Apriete las tuercas de
acoplamiento después de fijar |a calibracion en 3"
(consulte la Figura II, Vista Lateral).

PASO9

Deslice la punta de la barra de la sierra de cadena
entre las aimohadillas de engrampado del extremo
de empuje y continde hasta llegar a las almohadillas
de engrampado del extremo de punta (consulte las
Figuras IV y V). Deslice la barra a través del extremo
de empuije hasta gue la sierra quede dentro de un
margen de 1 pulgada del pilar del extremo de empuje
(articulo 12). Centre las almohadillas de engrampado
en la barra y apriete los pernos de cabeza hexagonal
(articulo 11). Ajuste el extremo de punta de la sierra
(Figuras IV y i, consulte la Gltima pagina) de modo
gue el protector de la punta no chogue con el
extremo de la cadena v la almohadilla de
engrampado no esté en contacto con la rueda
dentada de la punta de la barra. Para ello, afloje las
tuercas (articulo 6) sujetando el soporte (articulo 8) y
deslice el conjunto de pilar v soporte en la posicion
indicada. Apriete las tuercas (articulo 6) y la tuerca
(articulo 3) en el soporte (articulo 8) para fijar la
manija (articulo 21) en posicion. Asegurese de
que las almohadillas de engrampado queden
centradas en la barra de aserrado y apriete los
pernos hexagonales (articulo 11). Compruebe
que todas las tuercas y pernos estén firmes. Inserte
las tapas extremas (articulos 16 y 18). La sierra
ahora estd lista para su operacion,



artie coupde des tranches de grande taille.

i) Etapes de fabrication de poutres trés longues

‘our couper des poutres trés longues, commencer par 'étape
uivante

Sciage de troncs long ou irreguleres

ttitiser des clous de 10 a 15 cm. Commencer & l'extrémité la plus
rande taille du tronc et y placer deux clous comme Illustré{Fig 8).
lettre les dous de niveau au moyen d'un niveau a bulle. Répéter la
rocessus a l'autre extrémité du tronc. Pour que la coupe soit
araliéle a 'axe du trone, les tétes des clous doivent étre placées 4 la
1eme distance de I'axe du tronc aux deux extrémités.

‘elier |es clous de chague coté du tronc au moyen d'une ficelle ou
'un cordon solide. La ligne obtenue doit étre de niveau, En se
ervant des deux lignes comme référence, planter des cous
upplementaires dans le tronc au niveau de chaque ligne, a environ
n métre les uns des autres. [is délimitent ainsi une surface de

iveal sur laquelle placer le plateau de guidage. Placer le plateau sur
*s clous, puis déplacer le plateau pendant la coupe du tronc.(Fig 8a)

Sciage de troncs courbes ou irréguliers(Fig 2)
lutils nécessaires : Niveau a bulle, marteau, clous de 10 om, plateau
2 5% 20 cm, rouleau de corde solide
} Planter deux dous aux deux extrémités du tronc
) Mettre de niveau les clous aux deux extrémités du tronc, en
tilisant un niveau a bulle comme lustré
) Attacher le cordon aux clous situés aux deux extrémités du tronc.
e tendra.
) Planter un nombre de clous a la méme hauteur que le cordan, de
1gon a soutenir le plateau comme llustré. Si le tronc est court,
lanter seulement deux clous de plus au centre,
1 Ajuster la profondeur de coupe de la scie et sulvre le plateay.
‘eplacer ce dernier au fur et @ mesure de I'avance de la coupe.
) Utiliser ensuite les surfaces de coupe précédentes comme
sférence.
a Mini Mill G555B est un accessoire idéal de la scie Alaskan

MK IIL.(Fig 10)

-elte scie permet d'ajuster les troncs de grande largeur aux besoins
e la scie Alaskan. Pour empiler les troncs, couper des faces
aralléles dans les troncs, comme avec la scie Alaskan.
ixer 2 rails a un plateau de 5 x 15 cm, a la méme distance que le
‘onc scie. Puls, avec la Mini Mill fixée & votre scie, monter d'un cité
t descendre de |'autre.

Comment créer des bardeaux effilés (Figi1)
Jur couper des bardeaux (planche effilée), placer 2 rondelles entre
- ruban d'attache et la barre en-hors,
ne fiois e tronc mis a niveau, ajouter des rondelles au «patin en-
ars», comme lllustré. Régler I'épaisseur de coupe de la scie.
eéplacer le patin pour régler I'angle d'effilement. Changer chaque fais
2 cité pour obtenir l'effilement soubaité,

Como preparar maderaje con la
sierra de cadena Alaskan MKIII

1)Preparacion de un riel de guia o tablon de guia

(Fig 1,2)

Un sistema de guia fiable y preciso es imprescindible antes de
intentar operar su sierra MKIIL Granberg recomienda el uso de
nuestro sistema de RIEL DE ESCUADRED (pieza N* GB50), o el riel
EZ, piezas N® 1080 y 1085). Si opta por no utilizar el riel de
escuadreo o el sistema de rigles EZ, también funcionaran diversas
alternativas, tales como un tablén de 2" x 12" fijado con planchas de
2" % 2" o angulares de hierro sujetados a los bordes del tabldn. Esto
establlizard el tabldn al fijarlo al rollizo.
2)Preparacion para el primer corte (Fig 2)

Coloque y asegure el rlel o tablén de guia al rollizo. El riel de guia
debe extenderse mas alld del extremo del rollizo para que la sierra
haga el corte de manera nivelada y uniforme. El corte basico o primer
corte determina la exactitud de todos los demas cortes posteriores,

Una configuracion precisa garantiza que usted obtendr Ja cantidad
méxima de maderaje a partir del roflizo. Utilice cufias pequefias para
soportar el rollizo.Aseglrese de que la barra de montaje-
desmontaje(2a) quede centrada en el chaflan para asequrarse de que
la sierra abandona el corte de manera suave,
3)Preparacion para el segundo corte (Fig 3)

{pueden hacerse el segundo y el tercer corte con la minisierra)

Desmonte el riel de guia y la plancha del primer corte, 5i desea
realizar el "aserrado movil” del rollizo, ajuste |a sierra hasta la
profundidad deseada, y frese el rollizo tal como se encuentra.
Aseqglirese de realizar un corte recto manteniendo el contacto entre
los rieles de la sierra v la superficie del primer corte. Para producir un
“chaflan’, baje la sierra hasta la profundidad deseada, y asegirese de
acufiar el corte para impedir que la sierra quede pinzada.
RECUERDE MANTENER LA BARRA DE GUIA DE MONTAJE-
DESMONTAJE EN EL CENTRO DEL ROLLIZO. Esto ayuda a
soporta la sierra al entrar y salir del corte
4) Preparacion para el tercer corte (Fig 4)

Gire el rollizo 90 grados, soporte el rollizo firmemente y coloque el
riel de guia. Usando una escuadra de carpintero, aseglrese de que la
linea del tercer corte esté a dngulos rectos al primer y al segundo
corte.

5) Preparacion para la conversion de “chaflan” en maderaje
(Fig 5) Después de preparar el chaflan con una escuadra de
carpintero, haga & corte, y desmonte la plancha y e riel de guia.

Establezca |a profundidad en la sierra para &l tamafio de maderaje
deseado. Recuerde que la precision del corte depende de un contacto
constante con el corte anterior, Asegirese de que la barra de
montaje-desmontaje{2a) quede centrada en el chaflan.

6) Preparacion de maderaje de tamaiios corrientes a partir
de tablones aserrados. Si desea preparar maderaje de tamafio
carriente, redna los tablanes y engrampelos firmemente entre si.(Fig
6) Ajuste e calibre de grosor segun se requiera para cortar planchas
de2x2 2x602x12. 5 piensa preparar tamafios diferentes de
maderaje a partir del mismo rollizo, deberdn tenerse en cuenta las
distintas dimensiones en el paso 5.

7) Para dividir rollizos mas grandes en dos o mas
secciones,|Fig7) proceda por los pasos 2 a 4. Determine la
profundidad def corte usando el bastidor de grosores, Se utiliza el ridl
de gufa tal como se indicé mas arriba. Sera necesario acufar las

planchas mas grandes para compensar el gran peso.

8) Pasos tomados en la produccién de vigas de longitud
especial Al cortar vigas de longitud especial, se recomienda que

haga este primer paso:
Corte de rollizos de lonitud o de forma

irregular

Utilice clavos gruesos de 10cm a 15cm. {Fig 8) . Comenzando en el
extremo grande del rollizo, hingue dos clavos gruesos, tal como se
muestra. Nivele los davos gruesos con un nivel de burbiuja de aire.
Repita el proceso en el otro extremo del rollize, La distancia entre
las puntas de los clavos gruesos y el centro del rollizo debe ser la
misma en ambos extremos del rolliza, de moda que el angulo de
corte resulte paralelo al centro del rollizo.

Utilizando cordel o cuerda robustos, trace una linea entre las
puntas de los clavos gruesos en ambos extremos del rollizg,
asegurandose de que quede nivelada. Utilizando 1a linea como
guia, Inserte clavos gruesos adicionales en el rollizo a la aftura de
la linea, espaciandolos aproximadamente a un metre de distancia
entre si. Ahora dispone de una superficle nivelada sobre la cual
colocar el tabldn de guia.{Fig 87) Coloque el tabldn sobre los davios
gruesos, y muévalos a lo largo del roliizo, a medida que avanza el
proceso de aserrado,

Corte de rollizos curvados o de forma irregular(Fig 9}
Herramientas requeridas: Nivel de burbuja de aire, martiilo, clavos
gruesos de 10 em, tablon de 5 X 20 em y un rollo de cuerda robusta
1)Inserte dos clavos gruesos en cada extremo ded rollizo.
2)Nivele fos clavos gruesos con el nivel de burbuja de alre en cada
extremo del roliizo, tal como se muestra,
3)Ate una cuerda a un davo grueso y estirela de un extremo del
rollizo al otro.
4) Inserte clavos gruesos adicionales en el rollizo, a nivel de la
cuerda, tal como se muestra, lo suficiente como para sopartar el
tablan. En el caso de rollizos mas cortos, bastard con dos davos
gruesos adicionales en el centro,
5) Ajuste la slerra a |a profundidad de corte deseada y siga a
plancha para realizar el primer corte, desplazando el tabldn segln
lo requiera para completar los cortes.

B} En &l caso de cortes subsiguientes, ufilice los cortes anteriores
como referencia,

Un compafiero ideal para la sierra MK ITI Alaskan es la Mini

Mill G5558.

Con la Mini Mill (Fig 10), podra recortar rollizos més anchos para
adaptarlos al tamafio de su sierra Alaskan, Al igual que con la
slerra Alaskan, puede cortar lados paralelos en un rollizo, para
poder usarlo para la "canstruccin con rollizos apilados”,
Conecte 2 rieles a un tabldn de 5 x 15 cm espaciados de modo de
coincidir con la dimension del rollizo acabado. Luego, con la Mini
Mill conectada a la sierra, pase hacia arriba por un lado, v hacia
abajo por el otro,
Como cortar tinglado de seccién decreciente(Fig 11)
Para cortar tinglado (una plancha con una seccion decreciente),
cologue 2 arandelas entre la correa v la bama de montaje-
desmantaje.

Después de haber escuadrado el rollizo, agregue arandelas al “calzo
de montaje y desmontaje”, tal coma se muestra. Ajuste la sierra al
grosor deseado. Deslice el calzo para ajustar el dngulo de la seccion
decreciente. Alterme entre lados del rollizo para lograr el efecto de
seccion decreciente.



How to make Lumber with the
Alaskan Chainsaw Mill MKIII

1)}Preparing guide rail or guide plank (fig 1,2)

An accurate dependable guide system s absolutely necessary
before attempting to operate your MKIIL. Granberg recommencds
the use of our SLABBING RAIL system (part # GBS0), or EZ rail
parts # 1080 and #1085). If you choose not to wse the slabbing rail
or the EZ rail system, various alternatives will work, such as a
2"12" plank secured with 2™2"boards or angle irons fastened to
the plank edges.  This will stabifize the plank when secured to the
Iog.
2)Setting up the first cut (Fig 2)

Place and secure guide rail or plank to the log. The guide rail must
extend beyond the end of the log so the saw will leave the cut level
and evenly. The basic or first cut determines the accuracy of all later
cuts. Accurate setup insures you will get the maximum amount of
lumber from the log. Use small wedges to support the log. Make sure
that the on- off bar({2a) is centered on the cant to insure the saw
leavies the cut smoothly
3)}Making ready for the second cut (Fig 3,3a,3b){the second and
third cuts can be made with the mini mill)

Remove the guide rall and first cut slab. If you wish to "live saw” the
log, adjust the mill to the desired depth, and mill the log as it fes.
Insure a straight cut by maintaining contact between the mill rails
and the surface of the first cut. To produce a "cant”, lower the mill to
the desired depth, and make sure to wedge the cut to keep the saw
from getting pinched. REMEMBER TO KEEP THE ON-OFF GUIDE
BAR IN THE MIDDLE OF THE LOG. This helps to support mill
in and out of the cut.

4) Preparing to make the third cut Rotate the log 90 degrees,
brace the lng firmly and affix the guide rail. Using a carpenter's
square (fig 4}, make sure the line of the third cut is at right angles to
the first and second cuts

5) Readying to convert "cant” into lumber{Fig 5)

After preparing the cant with a carpenters square, make the cut
remove the slab and guide rail, Set the depth on the mill for the size
of lumber desired. Remember that the accuracy of the cut depends
an constant contact with the previous cut. Make sure that the on- off
bar{2a) is centered on the cant to insure the saw leaves the cut
smooathly
&) Making dimension lumber from sawn planks(Fig &)

If you desire to make dimension lumber, gather the planks and clamp
them firmly together. Adjust the thickness gauge as required to cut
2x2'%5 2w6 or 2x12%, If you plan to make different sizes of lumber
from the same log, the different dimensions must be accounted for in
step 5
7) To split larger logs in to two or more sections, proceed
through steps 2-4. Determine the depth of cut using the thickness
frame. The guide rail Is used as above. Larger slabs will need to be
wedged to offset the heavy weight
B)Steps taken in the production of premium length beams
When cutting premium length beams, it is recommended that you
take this first step:

Cutting oversized and irregular logs with
MKIII

Lse 10cm-15cm spikes. Starting at the large end of the log, drive two
splies as shown. Level spikes using a spirit level, Repeat process at
other end of log. The distance between the tips of the spikes and the
center of the log should be the same at both ends of the log, so that
the angle of cut is paraillel to the center of the log. (fig 8)

Using sturdy twine or cord, make a line between the tips of the
spikes on either of the log, making sure it is level. Using the line as a
guide, nail additional spikes in to the log to the height of the line,
spacing them about a meter apart from each other. You now have a
level surface on which to set your guide plank. Set your plank on the
spikes, and move it along the log as sawing progresses

Cutting curved or irregularly shaped logs{Fig 9)

Tools required: Spirlt level, hammer, 10cm spikes, 5X20cm plank and
a roll of sturdy cord

1)Mail two spikes in each end of log

2)Level spikes with spirit level at each end of log as shown

3)Tie cord to one spike and stretch from one end of the log to the
other

4)Nail additional spikes to log at level of cord as shown, enough to
support plank. On shorter logs, two additional spikes in the center
will suffice

S)Adjust mill to desired cutting depth and follow board for your first
cut, moving the board as needed to complete cuts

6)0n subsequent cuts, use previous cuts as a reference

An ideal companion for the MK ITI Alaskan Mill is the G555B
mini mill.

With the mini mill you can trim wider lags to fit the size of your
Alaskan Mill, As with the Alaskan mill you can cut parallel sides to a
leg s that it can be used for "stacked log construction™{Fig 10)
Attach 2 raifs to a Sx15cm plank spaced to the dimension of the
finished log. Then, with the mini mill attached to your saw, go up one
side and down the other side

How to cut tapered siding: (Fig 11)

Ta cut siding {a board with taper), place 2 washers batween the
strap and the on-off bar

After the log has been squared, add washers to "on and off skid” as
shown, Set mill to thickness desired. Slide skid to adjust angle of
faper. Alternate between sides of the log to achieve tapered effect

Comment préparer du bois de
construction avec la scie a chaine
Alaskan MK III

1)Préparation du rail ou du plateau de guidage :
( Fig 1,2)

Il est imperatif d'utiliser un systéme de guidage fiable avec la scie
MK I11. Granberg recommande d'utiliser le systéme de rails (réf,
GE5S0) ou de guidage EZ (réf, 1080 et 1085). Si vous ne souhaitez
pas utiliser le systéme de rails ou de guidage EZ, vous pouvez utiliser
un plateau de 2 x 12 po fixé par des carrés de bois de 2 x 2 po ou
des cornléres, Iis stabilisent le plateau une fois celui-ci fixé au tranc.
2)Préparation de la premiére coupe(fig 2)

Fixer iz rail ou le plateau de guidage au tronc. Pour gue la coupe
soit de niveau et réguliére jusgu'au bout, e rall de guidage doit
dépasser I'extrémité du tronc. La précision de la premigre coupe
détermine la précision des coupes suivantes. Un réglage précis
foumit un rendement optimal, Utiliser des coins de petite taille pour
supporter le tronc.5'assurer gue fa bame en-hors (2a)reste centrée
sur le tronc pour que a scie termine la coupe sans 3-coups.
3)Préparation de la deuxiéme coupe (Fig 3, 3a, 3b){les
dewxieme et troisiéme coupes peuvent étre effectuées avec la scie
mini}.

Enlever le rail de guidage et Ia premiére tranche coupée, Si vous
souhaitez couper le tronc a la main, réglez la scie & la profondeur
souhaitée et couperz ke tronc dans sa position actuslle. Pour obtenir
une coupe rectiligne, les rails de la scie doivent constamment

toucher la surface de premiére coupe. Pour couper un tronc sur 3
faces, la quatrigme restant brute, régler |a scle & la profondeur
souhaitée et insérer un coin pendant la coupe pour éviter de pincer
la scie. LA BARRE DE GUIDAGE EN-HORS DOIT TOUJOURS
ETRE SITUEE AU MILIEU DE TRONC. Cela permet de
soutenir la scie au début et a la fin de la coupe.
4)Préparation de la troisiéme coupe(Fig 4)

Tourner le tranc de 90 degrés, 'attacher solidement et y fixer le rail
de guidage. Contrdler que la ligne de la troisiéme coupe est 3 angle
droit des deux premigres coupes en utilisant une éguerre de
charpentier,

5)Préparation de la coupe d'un tronc sur les trois faces. (Fig
5)

Aprés avoir réglé la coupe sur fes trois faces au moyen d'une

équerre de charpentier, couper, puis enlever la tranche coupée et
le rail de guidage. Régler la profondeur de la scie & I'Epaisseur
souhaitée. Ne pas oublier que la précision de la coupe dépend du
contact constant avec la surface de coupe précédente, Sassurer
que la barre en-hors (Zajreste centrée sur le tronc pour gue la scie
termine [a coupe sans a-coups,
6)Coupe aux dimensions exactes de planches brutes.

Sl vous souhaitez couper des planches aux dimensions exactes,
empilez plusieurs planches et attachez les sofidement.(Fig &) Régler

I'épaisseur pour obtenir les dimensions sulvantes : 2x 2, 2x 6 ou

2 x 12 po. 51 vous souhaitez obtenir des planches de dimensions
variées a partir du méme tronc, en tenir compte a I'étape 5.
T)Pour couper des troncs de grande taille en plusieurs
marceau, utiliser les étapes 2 a 4. Déterminer la profondeur de
coupe au moyen d'un gabarit d'épaisseur. Utiliser le rail de guldage
comme décrit pius haut.(fig 7) Utiliser des coins pour soutenir la
partie coupée des tranches de grande taille.



Cutting lumber with the MKIII

A-Slabbing rail/guide
planks. Riel de escuadreo.
Systeme de rails référence

B-On/off bar. Barra de
montaje-desmontaje.Barre
en-hors

C-First cut. El primer corte.
Premiére coupe

D-Live sawing. Aserrado
movil. Sciage a la main,

E-Guide rail squared using
carpenters square. Riel de
guia escuadrado con
escuadra de carpintero.Mise
en place du rail de guidage au
moyen d'une équerre de
charpentier

F-Line of third cut. Linea del
tercer corte.Ligne de la
troisieme coupe

G-Mill position. Posicion de Ia
sierra. Position de la scie

h-Blade. Hoja. Position de la scie




Gutting oversized or irregularly shaped logs with MKII!




FIGURE I1

TOP VIEW/NOSE END

Desiice los pemos de camuaje en el canal de
los rieles de grosor tal como se muestra

Introduine les boulons du chariot dans 13|
rainure des ralls d'dpalsseur, comme

End bracket fush with thickness ralls
this side. T
Soporte extremo al ras con los risles de grosor
de este lado

Le support d'axtrdmitd doit affeurer les
rails d'dpaisseur de or oitd

Handla flush with end bracket on this
side.
Manija al ras con & soporte extremo de este
lado

Ly polgnée doit afMeurer le support
daxtrdmitd oe ce citd




ASSEMBLY INSTRUCTIONS & PARTS LIST

G776-24 THRU G776-56

ITEM| PART ITEM| PART

NO.| NO. |gry, DESCRIPTION NO.| NO. |gTy DESCRIPTION

1.] 808 | 2 |PANHD. SCREW10-32 4. | 795 1 | NOSE GUARD

2 | 323 | 2 |[NOLONGERUSED 15.] 702 | 7 | COUPLING NUT 5/16-18

3 | 835 | 2 [HEXHD. LOCK NUT 10-22 16.] 785 | 2 [ENDCAPHANDLE

4 | 1784 | 2 | UCLAMP, S/16-18 17.] 784 | 1 |TEBAR

5 | 804 | 2 |POST CLAMP 18| 778 | 2 |ENDCAPRISERPOST

6 | 6B4 | B | HEANUT, 51618 19.] 798 | 1 |ON-OFF GUIDEBAR

7. | 871 | 15 [FLAT WASHER. 5118 20 | 788 1 | CLMP. BRET /NOSE END

8 | 782 | 2 |ENDBRACKET 217931 | 1 |HANDLEG.776-24

9. | 805 | 8 |[CRGBOLT 5/16-18X3/4 7932 | 1 |HANDLEG-776-30

10.[ 7812 | 2 |THICKNESS RAILG-776-24 7933 | 1 |HANDLEG-T76-3%
7813 | 2 |THICKNESSRAILG-776-30 7934 | 1 |HANDLEG-775-48
7814 | 2 [THICKNESS RAILG-T76-38 7935 | 1 |HANDLEG-776-58
781-5 | 2 |THICKNESSRAILG-17648 2| 1 | ADJ POST/NOSE END
7816 | 2 |THICKNESSRAIL G-776-56 23| 685 | 2 LOCK WASHER

11.] 719 | 4 [REXBOLT 3he-18xa-172 TR 1 GRIP

121 79 | 1 [ADJPOSTITHRUSTEND 25 | 508 1 HANDLE

13.] 780 | 1 [CLMP BRET./THRUSTEND 2. | 709 1 WRENCH

S/LLUSTRATED PARTS 2000778-1202

GRANBERG INTERNATIONAL
BUILDING 289 PINTADO ST
VALLEJO, CA 94592

— - —— ——
—_———




FIGURE II

@-—

) LINE UP THIS SURFACE OF END
= BRACKETS WITH CALIBRATIONS
ON ADIUSTMENT POSTS TO GET

FI(

TOP VIE
without

000 B THICKNESS OF CUT DESIRED.
\&”’/. O Ii
O SLIDE CARRIAGE BOLTS DOWN THE ,
CHANMNEL OF THICKNESS RAIL AS |
(8) CHAINSAW BAR SHOWN.
@-—-..__ lrmal y ey / jamal
@ ——— FIGURE II
] /’ SIDE VIEW/NOSE END

@ w7 =

CLAMPING PADS

HOW TO ASSEMBLE ME III

STEP 1 ( See Figure I)

Attach tie bar ( item 17 ) and handle (item 25) to on-off bar (item 19) using
two 5/16 - 18 x 3/4 carriage bolts (item 9), two lock washer (item 23) and
one 5/16 hex nut { item 6 ) and one coupling nut (item 15). Then attach unit
to thickness rails ( item 10 ) using two 5/16 -18 carriage bolts ( item 9)

one 5/16 flat washer ( item 7 ) and two 5/16 - 18 coupling nuts ( item 15 ).
STEP 2 ( Seefigure IT)

Attach end bracket ( item 8 ) to thickness rails ( item 10 ) using two 5/16 -
18 x 3/4 carriage bolts ( item 9 ) two 5/16 flat washers ( item 7 ) and two
5/16 - 18 hex nuts ( item 6 ). Tighten hex nuts finger tight only.

STEP 3 ( Seefigure IIT )

Attach 2nd end bracket ( item 8 ) to thickness rails ( item 10 ) using two
5/16- 18 x 3/4 carriage bolts ( item 9 ) two 5/16 flat washers ( item 7 )
and two 5/16 - 18 hex nuts (item 6 ). Now tighten hex nuts, Be sure that
end brackets are flush with thickness rails ( see Figure I11 top view ).

STEP 4 ( see Figure IT & IIT)

Slide handle through large holes in end brackets. Secure handle at thrust
end ( Figure III ) flush with end bracket using # 10-32 x 1 1/2 pan head.

screw ( item 1 ) # 10 lock washer ( item 2 Jand # 10-32 hex nut( item 3 ).

The same applies to the nose end (Figure 11 ) but do not tighten nut.
STEP 5 ( See Figure II Side view )

Insert two 5/16 - 18 x 3 Hex head bolts ( item 11 ) through 5/16 flat
washers and into holes in adjustment post ( item 22 ). Slide bolts through
nose guard ( item 14 )and then through clamping bracket ( item 20 ). Nuts
are welded to the clamping bracket. Start hex head bolts ( item 11) into
nuts on bottom of bracket. Leave loose so there is a gap for mounting
chain saw bar.

?
b
\



RE 1 LOOSEN LONG NUTS FIGURE III

ALWAYS BE LOCATED
@, @ IN THE CENTER OF ANY

% LOG CUT. 4O

END BRACK
TO BE FLUSH WITH
THICKMNESS RAILS

(THIS END ONLY) J

VI
N-OFF BAR TO ADIUST ON-OFF TOP VIEW/THRUST END
ife showing GUIDE BAR ON THICK-

NESS RAILS. IT SHOULD

N

HANDLE TO BE FLUSH
WITH END BRACKET

W‘ /—:AINSAW BAR
/|11

T 1)
oo g
CAPING PSS EGURE TII
SIDE VIEW/THRUST END

STEP 6 ( See Figure II1 side view )
Insert two 5/16 - 18 x 3 Hex head bolts ( item 11 ) through 5/ 16 flat
washers ( item 7 ) through adjustment post ( item 12 ) and into
clamping bracket ( item 13 ) engaging nuts on bottom of clamping
bracket. Leave loose so there is a gap for the saw bar.
STEP 7 ( See Figure IT)
Aftach nose end post assembly to end bracket using U-Clamp ( item 4 )
post clamp ( item 5) two 5/16 flat washers ( item 7 ) and coupling
nuts ( item 15). Tighten coupling nuts ( item 15 ) after setting
calibration at 3" ( see Figure II Side View).
STEP 8 ( See Figure IIT)
Attach thrust end post assembly to end bracket using U-clamp ( item 4)
post clamp ( item 5 ) two 5/16 flat washers ( item 7 ), and coupling
nuts ( item 15 ). Tighten coupling nuts after setting calibration at 3"
{See Figure II Side View ).
STEP9
Slide nose of chain saw bar between clamping pads of thrust end and
on through to the clamping pads of the nose end ( see Figure IV& V ).
Slide bar through thrust end until the saw is within 1 inch of the thrust
end post ( item 12 ). Center clamping pads on bar and tighten hex
head bolts ( item 11 ). Adjust nose end of mill ( figures IV & V-see
back page) so the nose guard misses the end of the chain and the
CA UTIO N clamping pad is not contacting the sprocket in the nose of the bar. To
) do so loosen the nuts ( item 6 ) holding bracket( item 8 ) and slide post
ALWAYS use protective and bracket assembly into position. Tighten nuts (item 6 ) and nut
o (el g Ty e e | [ VMR (o TG | EXLT T ( item 3) on bracket ( item 8 ) to secure handle ( item 21) in
ear protection etc. The use ﬁlace.Make sure n:{]a?rp:ﬂn?( p:ds elslre centered on saw ba;l and tighten
. ex bolts (item 11). Check that all nuts and bolts are tight. Insert end
of a dust mask is also caps ( itemn 16 & 18). Mill is now ready for operation.
recommended.

G776L5F



END BRACKET MOVED

DOWN THICKNESS RAILS
FOR SHORTER CHAINSAW
== = y :
o
= e
R —
Y| CHAIN TRAVEL
o]
o n__. o._
KL
FIGURE IV ——

w CLAMPING PAD
Fu, O_ KEEP CLAMPING PADS FAR .
ENOUGH AWAY ROLLE !
T NOSE SO THAT ﬁ "___pum 8 _ pmlmnnﬂhn%lﬂ -t CHAINSAW BAR
DO NOT PINCH OR BIND _ _ i .4
ROLLER NOSE. e _, | =
ROLLER NOSE
NOSE GUARD FIGURE VI

ROLLER NOSE BAR

KEEP CLAMPING PADS FAR
ENOUGH AWAY FROM TIP OF
BAR 50 THAT THE PADS DO
NOT INTERFERE WITH SAW
CHAIMN.

1l i\ / ) "
g .. L T
"~ o - THRUST m:_u\

S0LID NOSE BAR



HOW TO MAKE LUMBER WITH THE ALASKAN CHAINSAW MILL MKIlI

GRANBERG INTERNATIONAL « PO Bow 2347 » Vallejo, CA 94592-0347 » TOLLFREE: (800) 233-8489 = Tel: (707) 562-2099 = Fax: (707) 562-201

@ SLABBING RAIL
PN G 850
=
<
- GUIDE PLANKS
-
< ”
X2
LUMBER
ANGLE

PREPARING GUIDE RAIL OR GUIDE PLANK
An accurate dependable guide system is absolutiey
necessary before attempting to operate your
“ALASKAN."
Granberg International recommends the use of our
SLABBING RAIL system, part number G 850. If you
are not going to order a set of these brackets, various
alternatives will work, such as a good straight 2 x 12 with
2 x 2's or angle iron securely fastened to the plank edges.
This helps stablize the plank when secured to the log.

@

GUIDE RAIL
I5 POSITIONED

GUIDE RAIL

|||||||||

SETTING UP FOR THE FIRST CUT
Place the guide rail or plank on the log and secure. The
guide rail must project at least six inches beyond the ends
of the log so that the saw will leave the cut level and even.
This basic or first cut determines the accuracy of all later
cuts. Make sure it is true and that will help praduce the
maximum amount of lumber from the log.

COMPLETED
FIRSTCUT _~"

LIVE SAWING

®

LINE OF
SECOND CUT

MAKING READY FOR THE SECOND CUT

Remove the guide rail and first cut slab. If you wish to
“live saw” the log, adjust the mill for the desired depth of
cut and saw mill the log as it lies, To produce a level and
straight cut, keep the rails of the mill level and in contact
with the log, To produce a “CANT” for a specific dimension,
lower the mill to make your second cut. Wedge this cut
open as the saw comes out of the cut to prevent the saw
bar from pinching the chain. This second cut produces a
surface parallel to the first cul. Remember to keep the
on-off guide bar in the middle of the log to lead the
saw in and out of the cut.

O

r— _ GUIDE RAIL IS SQUARED

WITH CARPENTER'S SQUARE
LINE OF THIRD CUT

- s e @

[ =
SECOND ;
cuT L

=i

| MILL POSITION |

et

SAW

BLADE -

LOG HAS BEEN TURNED
OVER 90° RE-BLOCKED

PREPARING TO MAKE THE THIRD
Now rotate the log 90 degrees, brace the log firmly and
fasten the guide rail. Use a carpenter's square to insure
that the third slabbing cut will be a rigt angle to the faces
of thee first and second cuts.




READY TO CONVERT CANT INTO LUMBER
You are now ready to convert the cant into lumber.
Remove the slab and guide rail. Determine the thickness
of the planks or boards to be produced and set the gauge
to the correct thickness. Remember that the mill slides on
the level surface of each previous cut so take care that
the on-off guide bar is centered on the cant to insure
the saw enters and leaves the cut evenly.

MAKING DIMENSION LUMBER FROM SAWN.

PLANKS

When you desire to make dimension lumber; gather
the saw planks as shown and clamp firmly. Now adjust
the thickness gauge as required so as to cut 2" x 2's',
2" x 6", or 2" x 12"s as an example. Keep in mind that
if various sizes are planned to be taken from the same
log, such as 4" x 4"x, 68" x 6", 4" x 8", elc., the various
dimensions needed must be allowed for when making
the previous cuts. See step five.

PRODUCTION OF HEAVY BEAMS

FROM LARGE LOGS
To split larger logs into two or more sections, proceed as
in step two through step four. The sizes of these heavy
pieces are controlled by the setting of the thickness
frame. The guide rail is used in the same manner as
previously described. The cuts may require wedging
open due to heavy weight.

STEPS TAKEN IN THE MAKING OF
PREMIUM LENGTH BEAMS

When cutting extra long or premium beams, we
recommend this procedure for making the initial cut.
Before placing the guide board (2" x 6" or 2" x 12"), drive
2 spikes at each end (level) and stretch a heavy cord from
one end of the log to the other. Drive spikes or lags to the
height of the cord as a means of keeping the guide rail
true and level (A). Place guide board on spikes and cut
about 3/4 of the length of the guide rail, raise the mill and
slide the guide rail ahead along the heads of the lags or
spikes (B). Continue cutting in this fashion unil the first cut
is completed.




e "L LL]
di49
J10NYH
LYISHI ANYL
LI3rNI TI0 ¥ve
1NN Wyr
—350H
JATVA

35¥H ONILNN
dvd HI0HS
HANYL H3TIO
dWY1D
/1 LrE-8/% 435 OH x3H
&L 1%I=-01 MI93%
JIONYH H3dT3H
HITIOH HIT01
B L]
OMNIY JINT

9 1-8/% MINIS aQH

K]
¥/ HIHSYM H301
¥Z-0L ION SNIM
J5id
B/ HIHSYM X207
¥2-B/E LNN X3H
ON3 3SON/L1S0d °rav
895-9LL-9 JFIONVH
Br—9//=0 JTANYH
9E-9.4-9 FIANVH
0E=9.L¢-9 FIONVH

) L-1

VIR | it | ;
965 | ap ATENISSY LM 43710 viogad

68 Tepg| ATBN3ISSY ONVH H3d13H Si69s 'L
Z96 [vv i | 310N

IV ¥ @ O3013m
nww WI-008 1AM XIM

-ITT /

BET

HYSEPR L]

¥ ivL3ag

b ot o ol o o R (e o K [ B s B [ | e e B e [ i o

ONI 3SON/ 1348 'dW12] L [ 88L ['iz
4v8 30IN9 440-NO| € | 6BZ |02
| 1S0d ¥3si/dvd aN3| € | BiZ |6t
¥vd 31 Z | v8s |8l |
- NanvH/dvo an3| 2 | gaz "Ly
| 81-91/5 INN ONIM| € | 908 |'9l
_B1-91/5 NN 9NMdNoD | £ | 20L |'Si |
I YIHSYM ¥I01 | Z | Sm9 [“Fi |
| ON3 ISNuHL/ 188 "gw12| 1 | a6Z L
AN 1SNUHL/1SOdrav| L | 162 |21 |
2/1-£x81-91/6 1108 oMo ¥ | 64z |t £ |
95-9££-9 Tvd SSINNIIHL] 2 [9-18¢
| 89-9£.~-9 V4 SSINNDIHL] € |G- 1B/
9E-94£-9 VY SSINNDIHL] € |P—iBL
0£-94L-9 Tivd SSINMIIHL] Z [¢-18Z| 0L |
|_¥/sx81-91/5 1108 o¥d[ ¥\ | 08 | ‘6
13¥0v¥8 ON3| € | Z8f | B |
91/5 'MIHSYM 1vd[B1L | 18 |z
81-91/5 "INN X3H| 8| v89 | 9
dNY1D 1S0d| 2 | ¥0B | 'S
8L-91/5 'dnvio-n| Z | vELL | ¥ |
=T LA - | ZE-01 INN %301 "0H X3H| € | €6 | s
S __Z_: mmqumu_..m._w == OL# u3HSYM %007 € | §2¢ |2
~ = [paies IOy by R0l MIUDS 'OH Nvd| £ | 608 | "1
COLZA=1IMK . NYSYSYIY |



£002 95055525

.. T HANTEM T LT

HONIEM] T | €os [@&r
.%T vig [ zr
B | 965 | 8% |
__ LNISNI SNWL[ b | 199 [GFF |
 HOI33FN o uVE _m i mellwf.“.
N WYl | &89 lg¥
AR s (B
| WAL
- ISVE NN [ ¢ | vioR|or
| . @m...,u"..|#u..w_._m.m U verg e F
NNVL HTUOT L | V8 ack |
L dAVIDT E | B89 |/¢
=1 rz-8% 508 oH X3H | 1 ] 42827 85,
T %0 W T [ IFE]EEs
_ TIGNVH B34T3H | | | 28160 PEa
¥ITION ¥3701| | | 4885 | &%
== __Onigvae | L | 4696 | If.
b o ONIH di#D| 2 | 408 | 18s)
i¥i-8/5 W3¥5s o 901 | | JRLB ke
M . BIND T T i8/E ] BT,
Lo VL H3HSYA NOOT | H....wiwumm.ﬁmm
Lo FI-0L AON ONIM b | JEE | Lew
P e U_WL: 1464 9%=
B/ 5 MIHSYM 3307 | | | J085 | 5.
_ FE-B/TIAN X3H | 4 | 3069 Fie
___ON3 3sow/isod rav] | ceL | 'Sz
| 9S-97:-9 TIONVH| | |S-%6L
8F-9£(-D TIANVH| | |r-%6i
9E-94(-0 TWONVH| L [£-T6L
JE-9i4-D TIONVH| L [Z-$BL| T

LIBNISEY LN N3N0 veoRDe
ATHWISSY JNYH M3413H So69.

-

T

A

STHN, 98 % ,.0¢

CSA/TI=NMAN & NYNS

Yiv

C T RO T T T

*, F [ (R THe e i e [T
N o~ =
......h..ur. W, WL W
ne 3 B
= w I..,..-.rﬂ_- _
s : | ¥ Jivi3g
L —
@ - €
S
S-h
- oo
=
NN -l
¥ L l.ﬂ..mJI
lﬁ.lm.ur .lr...ﬁ#.
___ON3 JSON/INNE am1d] ¢ | SRl us
W8 30N a0-No| | see oo
| 1504 ¥3Sis/dvd an3 = | 3ud 6
_ 3vB 3| 1 | FEL By
= TONVH/ VD QN3 T | S8l o
_ Q9350 ION 2
8l-9i/g 1N oNRaned < [ zor | 5.
Lo HIHSYM %307 T | @9 v
| ON3 ISNNKL/INMB oMY L | 0L | ¥
| QN3 iSDMHL LsodFav 6. |2
| Z/v-ex8i-9i/s 08 w3l v | sic | 4
L 95-9:0-9 vy .mmu.iui T [8-ise]
B¥-B.0-2 TV SSINSNL] T TS-1a]
[ 3£-82-0 vy ssawvoms] = [v- ise|
L OEZRLL-D el mm..umf.n.,_.m.; = _E_t8i}'9)
Y EXBL-81/S 1108 083 8 | S0B |8
L 13w ada] s [ e | =
_— aL5 _I,..._Im_...i g O -
| ﬂ_.lﬁﬂ. ....._._.Z ...,”..=.._ =] | rEf | o
(i V13 IS0d| 2 roR B
L. 81-91/S “amv-7 T THBLL |
| EESOL CAON M7 GH NaM L | sE8 !
| 4350 ¥3I9NO) ON T fTE U
( ZE-00 MAWDS O Nval B8 '
| TN 40
| NOILAINIS 3 ALD! NVS AT

1
|
k.



HOW TO SAW LOGS LARGER THAN YOUR SLABBING RAIL

(Logs up to any length can be sawn using the method below)

A} TOOLS REQUIRED: SPIRIT LEVEL, HAMMER, 4" SPIKES, A 2 X 8 PLANK AND ROLL OF NYLON OR POLY CORD.
B) 1. NAIL TWO SPIKES AT EACH END OF LOG.
2. LEVEL SPIKES WITH SPIRIT LEVEL AT EACH END AS SHOWN.
3.FOR A LEVEL CUT, MEASUREMENT TO TOP OF SPIKES FROM CENTER OF LOG SHOULD BE THE SAME FOR BOTH ENDS.
4. USING STRONG POLY OR NYLON CORD, STRETCH CORD FROM ONE SET OF SPIKES TO THE OTHER.
5. DRIVE SPIKES TO HEIGHT OF LINE ALONG THE LOG, STAGGER SPIKES EVERY THREE FEET,
6. LAY A2 X 8 PLANK ON TOP OF THE SPIKES AS A GUIDE. SLIDE THE PLANK ALONG AS SAWING PROGRESSES.

GUIDE BOARD
SPIKES
o

CUTTING CURVED OR IRREGULAR SHAPED LOGS

A} TOOLS REQUIRED: SPIRIT LEVEL, HAMMER, 4" SPIKES, A2 X 8 PLANK AND ROLL OF NYLON OR POLY CORD.
B) 1. NAIL TWO SPIKES AT EACH END OF LOG.

2. LEVEL SPIKES WITH SPIRIT LEVEL AT EACH END AS SHOWN,
3. TIE CORD TO ONE SPIKE AND STRETCH CORD FROM ONE SET OF SPIKES BACK TO THE OTHER.

4. HAMMER ENOUGH SPIKES TO HEIGHT OF CORD TO SUPPORT PLAN AS SHOWN. ON SHORTER LOGS. TWO ADDITIONAL SPIKES
IN THE CENTER SHOULD DO,

3. ADJUST YOUR MILL TO DESIRED CUTTING DEPTH AND FOLLOW BOARD FOR YOUR FIRST CUT. MOVING THE BOARD
AS NEEDED TO COMPLETE CUTS

6. ON THE FOLLOWING CUTS USE THE SAWN SURFACE FOR A REFERENCE.

o
;7 TN GUIDEBOARD

SPIKES ===

LEVEL
e —

176L1
INFI INSTRIICTIONS SHFFTS 20041



	Alaskan-Instructions-cover
	Alaskan-Mill-Instructions-new

